[d° sum p_/dndg[GeV]

Ratio to ATLAS

T

900 GeV p Underlying Event

3 —— I I I I I I I I I I I I I 0

B | | | | T]2

u Average X(p ) vs p= (in| < 2.5, p_ > 0.5 GeV) 42

B 1=

o5 W ATLAS s

"~ | --O-- Herwig++ 2.7.1 default N

- --&3-- Herwig 7.2.1 default o

~  —¥— Herwig 7.2.1 softTune 5

2 — _E

— -

1.5 — —

- | ©

o™

. s

o™

- <

- 1O

b

1= e

B <

- .8

B i -

- 1S

0.5 — — 5

= — 0

[%)]

B e

— -1 &

L | o

la) | | | | | | | | | | | | | | | | | | E
:I | T T T | T T T | T T T | T T T |:

2 = =2
: =

1 3 = = i 1
- ® ; |

0.5 —0.5
1 | 1 1 1 | 1 1 1 | 1 1 1 | 1 1 1

8 1|O
P, (leading track) [GeV]



	Contents
	Page 1


